CTET L1 Hindi L2 English P1

Topic:- CDP_P1_CTET

1) Although domains of development overlaps with each other in certain aspects yet which of the
following domain of development specifically attempts to study the progression of ‘feelings’

about self and others ?

(1) Moral Development

(2) Language Development
(3) Physical Development
(4) Emotional Development

T FA=Ta = &= 7 %, AT F I = 2ran g, a9y FetataT |
& B #1 Fa-ar &7 {fore =7 § =7 v @90 F an § gEaEr S5 3w
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(1) afa= =
(2) arar FFE
(3) ety A
(4) FerTTea s AwE

[Question ID = 31][Question Description = CTET_P1_PART_1_CDP_SET_119_Q1]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) Which of the following Principle of Development suggests that ‘some specific responses get
combined in the later process of development to form a whole' ?

(1) Principle of Continuity

(3) Cephalocaudal Principle

)

(2) Principle of Integration
)

(4) Proximodistal Principle

fFwm 1 Fm-ar frar 97 e swar g & =y e g 79 e
giatwary e 7 12 #i 9iHar § q9ieaq grar g ?

(1) e =7 g

(2) TR FT FHET

(3) ofrimrret forgmes

(4) sramTHT (FET-EeE)

[Question ID = 32][Question Description = CTET_P1_PART_1_CDP_SET_119_Q2]



1 [Option ID = 125]
2 [Option ID = 126]
3 [Option ID = 127]
4 [Option ID = 128]
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3) Which of the following factor comes under the category of socio-cultural factors having an
influence on development ?
(1) School climate
(2
(3
(4) Genetic makeup

Neurological deficits

)
)
) Biological dispositions

)

=T & 7 FF-A7 T2 ATATCS-T IR H2eht hi F0 F $rar g &1 f=Hm
TATTAT FAT1 g ?

(1) TEAT AT
(2) AT T

(3) St wgferat
(4) AT T

[Question ID = 33][Question Description = CTET_P1_PART_1_CDP_SET_119_Q3]
1 [Option ID = 129]
2 [Option ID = 130]
3 [Option ID = 131]
4 [Option ID = 132]
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4) In accordance to Jean Piaget's theory of cognitive development, a teacher should give tasks
requiring _ to students in age group 7-11 years for working independently.
(1) Hypothetical-deductive reasoning
(2) Reversible thinking
(3) Passive imitation
)

(4) Object permanence

s faTer & "R @ % g & dqane, s @i 7-11 ag f
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T ATALAFAT & |

(1) T T AT H - (AT A T ATiadr

(2) gfa=dt =a (Tereat)

(3) e ergeem

(4) =g FaTiae

[Question ID = 34][Question Description = CTET_P1_PART_1_CDP_SET_119_Q4]
1 [Option ID = 133]
2 [Option ID = 134]
3 [Option ID = 135]
. 4 [Option ID = 136]
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5) According to Jean Piaget's theory of cognitive development, at which stage do most children
become capable of solving abstract problems in logical fashion ?

(1) Sensorimotor
(2

)

) Preoperational

3) Concrete operational
)

(
(4) Formal operational

St foaTer *F ST e % Mgia F aaare, B daen § Gigwie ==
FHA FHETHA FT AT 297 | g H0d J TAF g1 A1 2 2

(1) FHARIITHE FTHT

(2) TF-ATFATEET AT

(3) T AwaTHT AT

(4) Ar=TiE HiFaTeHT FEe

[Question ID = 35][Question Description = CTET_P1_PART_1_CDP_SET_119_Q5]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) Noori judges other actions based on the argument that ‘we have some duties towards society
and we should obey rules for that sake’. As per Lawrence Kohlberg, what stage of moral
reasoning is Noori at present ?

(1) Pre-conventional
(2) Conventional
(3) Post-conventional

(4) Formal-conventional

T 20 T gAY AHIS & A T (AeA g A7 39 I;4ed & fore g Hasi #1
Tl AT FTEW 3 AT T FIAT ATl 7 oy et & | iy Frgeras
FTATT, T30 ZH HHT AT qTanar =t 50 Ja=qTH g ?

[Question ID = 36][Question Description = CTET_P1_PART_1_CDP_SET_119_Q6]
1 [Option ID = 141]
2 [Option ID = 142]
. 3 [Option ID = 143]
. 4 [Option ID = 144]
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7) A teacher gives assignments which requires students to get into discussion with significant
others in the family. As per Lev Vygotsky's theory, she believes that plays a
significant role in cognitive development of children.

(1) imitation
(2) biological maturation
(3) hierarchy

(4) social interactions

T FAEATIOHT =i 1 T97 Y& &4 =47 g, e s oA & 92591 & 917
FAT FIAT HgeA ®9 F 0T g | TF AT F FE % aqare 39
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|

(1) AgFEm
(2) SErfr TRTFAT

(3) TRTIFH
(4) | e

[Question ID = 37][Question Description = CTET_P1_PART_1_CDP_SET_119_Q7]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) In accordance with Lev Vygotsky's ideas, a teacher should

(1) avoid giving cues or hints to students in any circumstance.
(2) discourage students to verbalise their thoughts while working on a problem.
(3) encourage discussions and debates among students.

(4) view learning independent to socio-cultural context of students.

AT & =T | Jgdia T aral AT &7 7= § F =7 F77
BT ?

(1) Bft of T afv ot & Fefet w1 @ a7 3o 39 T F=997 91180 |

(2) TRET FHEAT T HTH FIA g AT TAAT0 F FIEhH0T Fed 9 == =r
(3) A== & 19 =371 AT AATLH AT Dl FLTET 34T AT T |

(4) sxterTsr = faEnfaaT & arartSe-aiepias afasr @ genT 9T J1eT |

[Question ID = 38][Question Description = CTET_P1_PART_1_CDP_SET_119_Q8]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]




9) Lev Vygotsky believed that higher-order mental processes are mediated by
(1) psychological tools
(2) rewards and punishments
(3) conditioning

(4) memorisation

@ AT T 79 g 6 Ssaa-mn fi g gimard F I
HHTHTOT At 2 |

(1) AT TTHTT

(2) T5F=TZ U T

(3) ATTTT

(4) Fzeftmer

[Question ID = 39][Question Description = CTET_P1_PART_1_CDP_SET_119_Q9]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) As per Howard Gardner's theory, students who are good at understanding other’s feelings,
moods and intentions posses higher level of kind of intelligence.
(1) Interpersonal
(2) Spatial
3)
)

(3) Musical
(4) Intrapersonal

giae MeAT & Hg| F agare, s Fardi gt it 9rErst, qaEeE {7
SITEL 1 A=G1 9g 9 T 9Td 2, IAH (566 T Hil Iz 77 I=F T 2ar g ?

[Question ID = 40][Question Description = CTET_P1_PART_1_CDP_SET_119_Q10]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]



11) As per Lev Vygotsky's ideas, which of the following statement charactersizes the correct
relation between language and thought ?

(1) Language has no role in self-regulation of thoughts.

)
(2) Self-directed talk of children represents their ego-centricism
3) Inner-speech of children represents an internal plane of verbal thinking.
)

(
(4) Verbalisation of thoughts hinders children’s problem-solving skills.

o AT (A=T0 F Aq9Te, {e § 7 F19-97 F99 97 f7 15909 % #9
F HEH FT AEl T | FqTATE ?

(1) a7 Y F=0 & - § i g A 2 |

(2) T==T1 T F-FETT ATd TTHT ATH-Fra (AT T 90T 3 |

(3) F=A1 ¥ 7T ATF ! ATEH G0 & AqH 02 FH =907 ¢ |

(4) =TT T A0 T== | 6 THEAT-HATATT FHI9TeA| § ST g7 2 |
[Question ID = 41][Question Description = CTET_P1_PART_1_CDP_SET_119_Q11]
s

3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) 'Boys are always good in science and girls are always good in music’, this statement reflects

(1) Gender Equity

(2) Gender Parity

(3) Gender Identity

(4) Gender Stereotype

‘T ZHAT A § =g 21 2 AT @At v /7, TF FAT FAT 4T g 2
(1) Si=¥ |H7aT

(2) SiET ST
(3) =T FfEHaT
(4) Si=T wigartzar

[Question ID = 42][Question Description = CTET_P1_PART_1_CDP_SET_119_Q12]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]



13) Diversity in terms of socio-cultural context of students in a classroom should be

(1) eliminated by dividing students based on their context

(2) Ignored and standardised curriculum should be practiced

3) considered as an asset and be utilised in teaching a concept
)

(
(4) the criteria of |abelling the students and strengthening stereotypes

= AT H FAEnfEat F arfeer-aierfas deat F ot i @A
|
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ST AT |
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[Question ID = 43][Question Description = CTET_P1_PART_1_CDP_SET_119_Q13]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) In order to promote critical thinking among students, a teacher should present
requiring .
(1) open-ended guestions; divergent thinking
(2) close-ended questions; convergent thinking
(3) problems from real life context; convergent thinking
)

(4) decontextualised scenarios; application of declarative knowledge

=it 7 =T e A # e F7 % O, eeareen
(EEE] 9TTTAS g, THqT HLd AT |

(1) T A= AT (TR 1T7) T, ATATLN =

(2) I AT ATA F9; ATHATIL =

(3) ATEATAT AT GaH T FAMAL ATIART =aq
(4) FEA-TI2T TTgeT; STO0TesF S F 9009

[Question ID = 44][Question Description = CTET_P1_PART_1_CDP_SET_119_Q14]
. 1 [Option ID = 173]
2 [Option ID = 174]
3 [Option ID = 175]
4 [Option ID = 176]
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15) Formative Assessment should be done

(1) using standardised group tests.
(2) by special educator and not by regular teacher.
(3) regularly in collaboration with students.

(4) at the beginning and end of the session only.

THATCHE ATFAT e THTE 3T ST 318w ?

(1) AT T T % HHE T AN F |

(2) = e forere g, 7 & v g foree E
(3) Farfie =v & ==t % 9gI0T % |77 |

(4) =T | AT gHATT AT AT F El FoAT ="l |

[Question ID = 45][Question Description = CTET_P1_PART_1_CDP_SET_119_Q15]
1 [Option ID = 177]

2 [Option ID = 178]

3 [Option ID = 179]

4 [Option ID = 180]
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16) Inclusive education suggests that principles of should be practiced to ensure that all
students achieve their best potential.

(1) Equity
(2) Equality
(3) Prejudice
(4) Segregation

TR foraT % aqeTe, T et a9t qaa auardr 57 90 w7 94, g
TS Few % foru e Frgiat 7 9 F797 ATey 2

(1) F=aT

(2) FHTAAT

(3) F&9TT

(4) TAFHTT

[Question ID = 46][Question Description = CTET_P1_PART_1_CDP_SET_119_Q16]
1 [Option ID = 181]

2 [Option ID = 182]

3 [Option ID = 183]

4 [Option ID = 184]

A w N =

17) Dyspraxia is directly related to difficulties in
(1) Reading of text
(2) Remembering of facts

(3) Physical coordination of body parts
(4) Manipulation of numbers



T T FFT Toad =9 7 T Fwizarat 7 d9faT g 2

(1) T fEATTae] TET |

(2) T=AT AT ATT AT T

(3) aTiTea &9 & A AT J
(4) 3T F THAT H

[Question ID = 47][Question Description = CTET_P1_PART_1_CDP_SET_119_Q17]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18) Assertion (A) .
To ensure inclusion of all students multiple modes of representation of information should be
practised in classroom.
Reason (R) :
Concept of inclusion includes children with learning disabilities but does not include children
with emotional difficulties.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R} is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false

HTEFIT (A) :

7t Frenfi=t ¥ awmes #1 gHfEsg w2 % Fory 5ar 7 59 F g &
[EIEEREIREI R IR ER IR IR T

T (R) :

AHTAYE T FAATON H ATANH qHAEAT AT d=4 91 ANHA § 99 TAH
ATATCTH FisATe o 2T Tg a=4 0T 78l ¢ |

Hel fawed 7 -

(1) (A) &% (R) ITT TET & 17 (R), (A) HT FET 2T FTAT €

(2) (A) 9T (R) =TT ET E W16 (R), (A) 7 #ET =1e4T 72§

(3) (A) wET € @ (R) T &

(4) (A) 3 (R) =TT T &

[Question ID = 48][Question Description = CTET_P1_PART_1_CDP_SET_119_Q18]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]

3. 3 [Option ID = 191]
4. 4 [Option ID = 192]



19) While the condition of Autism varies considerably, yet students with Autism are often good at

(1) maintaining eye contact for long
(2) communicating with strangers
(3) adjusting with frequent changes in their routine

(4) retaining extensive factual information

T dfesy f Fafe 79= =7 7 =S g g, aafe #ifesy g
=t g1 FEH T=E g 2 2

(1) @& 9T TF AT F T FA00 75T |

(2) I =aT % | aE §

(3) "= ¥ AT AF AT TRAAAT & Hid THST o

(4) =T T2TEHF SF F AT T I H

[Question ID = 49][Question Description = CTET_P1_PART_1_CDP_SET_119_Q19]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20) An identifying characteristic feature of creative children is that

(1) they conform to norms.
(2) they like to imitate others.
(3) they are independent in their thinking.

(4) they have a short attention span.

THATCHE d=a1 3l U Jg=1 [Aguar 7g g &

(1) T ATAEST & ATDT of T F3d ¢ |

(2) T ZAL & THA FLAT THE FLA 3 |

() TFFITA TTHHEAZ |

(4) IET LT AATH FH ZrAT 2 |
[Question ID = 50][Question Description = CTET_P1_PART_1_CDP_SET_119_Q20]
1 [Option ID = 197]
2 [Option ID = 198]

3 [Option ID = 199]
4 [Option ID = 200]
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21) The correct sequence of presenting ideas to children is from to

(1) complex, simple
(2) general, specific
(3) abstract, concrete

(4) symbolic, iconic
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Al & Tegd A= favg Toqd F7d 797 qEr w79 G HT AT
ST AR |

(1) siteer & |31

(2) mTHTeT | fafere

(3) o &

(4) HIFHAF T ATIATHHT

[Question ID = 51][Question Description = CTET_P1_PART_1_CDP_SET_119_Q21]
1 [Option ID = 201]
2 [Option ID = 202]
3 [Option ID = 203]
4 [Option ID = 204]

22) A teacher wants to deepen the understanding and memory of knowledge constructed by the
students. Which of the following strategy will notbe effective for this purpose ?

(1) Creating 2 metaphor

)
(2)
)
)

Applying the information to new problems

3) Acting out the relations between sub-concepts

(
(4) Mixing irrelevant information with relevant information

TH T9 % o1 Fra-H1 0 THTF9TA T FgF e ?

(1) AT T T

(2) Tger T ST T AT G99 F {00 T FHeAT

(3) ST-ATLTTOMSAT F HeT THAGAT FI FIA((vad FadT

(4) AT e STTRT0 T TTE I ST 6 J7 T FoAT

[Question ID = 52][Question Description = CTET_P1_PART_1_CDP_SET_119_Q22]

1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3.

4. 4 [Option ID = 208]

3 [Option ID = 207]

23) Assertion (A) .

A teacher should encourage students to think about their own thinking processes and ways of
learning.

Reason (R) :

Metacognition helps in development of higher order cognitive skills.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) Both (A) and (R) are false



H&FaT (A)

= forer A Rt i Ao Fad gt F av § @7 vy Frg" F 7w
F AT H Frad & o GreAted AT Ahe |

FIT(R) :

HTEHESTT I== H & TRAH 9l 6 (=0 § 752 FLar g |

el e 77

(1) (A) 9T (R) =01 &1€T € S (R), (A) T AT =027 7747 §

(2) (A) #T (R) =01 &L € @06 (R), (A) T 7L =047 751 @

(3) (A) T § @ (R) 11 §

(4) (A) T (R) =TT T4 €

[Question ID = 53][Question Description = CTET_P1_PART_1_CDP_SET_119_Q23]

1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]

24) Karan always considers more than one solution to any problem and often comes up with

innovative solutions.
This exemplifies

(1) Divergent thinking
(2) Convergent thinking
(3) Negative thinking
(4) Irrational thinking

T T R fY FEET T U A ST AT AT § A7 qw A
FHTATAT AT T E |

7g T g T HIF T IR g ?

(1) srmETT A=

(2) AfHH=or |19

(3) TFTETHS 1=

(4) TG A=

[Question ID = 54][Question Description = CTET_P1_PART_1_CDP_SET_119_Q24]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]
3. 3 [Option ID = 215]
4. 4 [Option ID = 216]




25) For learning to be effective and meaningful, it is important to

(1) establish connections between learning in school and life outside school.

(2) deliver the content by ensuring that students don't make attempts to apply that knowledge
in everyday life.

(3)teach concepis in a way that connections between different subconcepis are not
established.

(4) focus on reception of knowledge and urge for understanding should be minimised.

STEATH TATALTAT 7 STAT07 21, 96 for, 47 FAg=a gt 2 2

(1) F=rme ® 21 T Afen 3T BEneT F g F SEg & A9 a=gdr
T FEAT |

(2) FamaTt #1279 THE § T wear o & et o s a6 2w
SE| § WINT F9d &7 T4979 7 &7 970 |

(3) AT T TH TL0H 7 ugAT forew & e so-saarmat § aw=gar
IO d 7 21 9% |

(4) ST % STEw0d 9% e 291 FATMe 1 AT F9= & o7 Ihar 7 FH-T-F7 FTA0

TR |

[Question ID = 55][Question Description = CTET_P1_PART_1_CDP_SET_119_Q25]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26) Classroom climate, pedagogies and assessment methods should be choosen in ways that
ensure promotion of among the students.
(1
(2
(3
(4

curiosity
disinterest

competition

EIT i St S L

rote memorisation

AT & T, TorA-aTrsiiar TTAfaT e srsere f A9 &7 =99 o9 THhie T
FEAT AT 3 7 E=ntat |  IeAT AT qATAT T T |
(1) =T
(2) st
(3) Fra=FTHEET
(4) Foefimm
[Question ID = 56][Question Description = CTET_P1_PART_1_CDP_SET_119_Q26]
1 [Option ID = 221]
2 [Option ID = 222]

3 [Option ID = 223]
4 [Option ID = 224]
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27) Which of the following is nof a correct approach of a teacher to deal with errors made by
students ?

(1) Searching for patterns in the errors.

)
(2) Exploring the learning gaps causing errors.
3) Scaffolding the students to rectify errors.

)

(
(4) Telling the correct answers without discussion with students.

Rt g 1 I AT #r geaw F o Sefetaa § 7 foem g
FOATAT AT FIF-57 T TEF q@gl o ?

(1) AT & gra=ai T =ref FI7 |

(2) ATETH F FIAT F AL H ST {577 FTE07 At 2l g |

() =TT it et =1 qarre = forw JgamT Fr |

(4) =T & =y ==1 o 59T 927 397 9amT |

[Question ID = 57][Question Description = CTET_P1_PART_1_CDP_SET_119_Q27]
1 [Option ID = 225]

2 [Option ID = 226]

3 [Option ID = 227]

4 [Option ID = 228]

A WN =

28) A teacher should promote and among students.

(1) entity view of ability, performance-oriented goals
(2) incremental view of ability, mastery-oriented goals
(3) entity view of ability, failure-avoidance goals

(4) incremental view of ability, failure-accepting goals

T AEATAT &l I fa=ntagt § T = T Tied FAT FAT20
|

(1) T T 77 99, TRA-ATHHLAT T8

(2) T T AT T, HETA-ATHIET T8
(3) FTFTAT T 574 7, AAFAAT-T g1 AL
(4) TRIAT T JTEF T, AAFATT-FA 1T AL

[Question ID = 58][Question Description = CTET_P1_PART_1_CDP_SET_119_Q28]
1 [Option ID = 229]

2 [Option ID = 230]

3 [Option ID = 231]

4 [Option ID = 232]
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29) Which of the following is correct in context of emotion and cognition ?

(1) High stress enhances problem-solving skills.
(2) Sense of joy enhances engagement in discussion.
(3) High anxiety improves processing of information.

(4) Sense of boredom improves critical thinking.

ATAATSAT A HATT & G239 | FeArorgd 5 F FHT-A1 Jal g ?

(1) AeATEF TATT THEITHAT 1 AT & FIIAT ] FZTAT3IATE |
(2) B ST IoATH F¥ ATAAT F=1 | AW A & (17 T@Tar 247 2 |
(3) sreafar f=aT, ST % e § I ATt g |

(4) AT #T GTEAT HTA AT F (5§ JETE Tl g |

[Question ID = 59][Question Description = CTET_P1_PART_1_CDP_SET_119_Q29]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30) Which of the following contributes to the development of effective problem-solving skills ?
(i) Convergent thinking
(i) Mnemonics
(iii) Comprehension

(iv) Passive imitation

(1) (i) and (ii)
(2) (ii) and (iii)
(3) (i) and (iii)
(4) (ii) and (iv)

TeAorere & | =R TarET THE-HH e e = (eehre § T 247 8 2
(i) ATFETT =ae
(R EVIREARNEID RN
(i) THET FATET (FTH)
(iv) TR TS s
(1) () & (ii)
(2) (i) & (iii)
(3) (i) & (iii)
(4) (ii) 3 (iv)
[Qut[e;tion ID =2630]][Question Description = CTET_P1_PART_1_CDP_SET_119_Q30]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]



Topic:- MATH_Q31-45_P1_CTET

1 2 1
) Vishal has ten dozen candies. He gave - of these to Radha, - of these to Asif and - of

3 "5 12
these to Sonu. The number of candies left with Vishal is
(1) 20
(2)18
(3)22
(4)16

ﬁsw%wwaﬁ?%ﬁélmﬁm% WTRT TTIT T, % T e F7 ™
5 ST AT F1 % e | rorrer e = $R A e

(1) 20

(2)18

(3) 22

(4) 16

[Question ID = 61][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q31]
1 [Option ID = 241]
2 [Option ID = 242]
3 [Option ID = 243]
4 [Option ID = 244]
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2) What is the sum of all the factors of 56 ?
(1) 64
(2)120
(3)63

(4)176

AT 56 & Tl [IAE ST T ANTHA F4T g 2

(1)64

(2)120

(3)63

(4)176

[Question ID = 62][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q32]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]

3. 3 [Option ID = 247]
4. 4 [Option ID = 248]



3) Which of the following is correct ?

()25

5 7

@25
5 30

) S |
53

@4l st
15>2¢

feferiea 4 3 TE-aT "5 2 ?

3.5
V35>7

2 8
@ 5%

1 1
33

1.1
(4}15’25

[Question ID = 63][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q33]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) In which of the following, the numbers are written in ascending order ?
(1)5.02, 5.022, 5.032, 5.32, 5.201
(2)5.32,5.201, 5.032, 5.022, 5.02
(3)5.02, 5.32, 5.022, 5.201, 5.032
(4)5.02, 5.022, 5.032, 5.201, 5.32

ey 3 3 Faverif st e o F Rt g & 2
(13902, 5:022, 5.032,5.32, 5201
(2)9.32, 5201, 9.032,3.022,.5.02
(3)5.02, 5.32, 5.022, 5.201, 5.032
(4)5.02, 5.022, 5.032, 5.201, 5.32

[Question ID = 64][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q34]
1. 1 [Option ID = 253]
2. 2 [Option ID = 254]
3. 3 [Option ID = 255]
4. 4 [Option ID = 256]



5) The sum of the place values of 7 in 75707 is

(1) 77007
(2) 7077
(3) 70707
(4)21

75707 | 7 = ®ATA ATHT T AWTHA 3
(1)77007

(2) 7077

(3) 70707

(4)21

[Question ID = 65][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q35]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) What is the least number which must be subtracted from 60078 so that it is divisible by 245 ?
(1)40
(2)49
(3)83
(4)61

g T Gret et F47 g 59 60078 H & 92T 9T YTt HEAT 245 7 9157 g1
?

(1)40
(2)49
(3) 33
(4) 61

[Question ID = 66][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q36]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]
7) Look at the following units of measuring length :
km, mm, m, cm, dm
If we arrange them in ascending order, which unit will be at fourth place ?

(TYem
(2)dm
(3) mm
(4)m



e o= g i gt F13HT
km, mm, m, cm, dm
712 3¢ F@d g HH H AT S0, q7 A1 TATT 97 HIF-H1 ZH0%
ghft ?
(1) cm
(2) dm
(3) mm
(4)m
[Question ID = 67][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q37]
1 [Option ID = 265]
2 [Option ID = 266]

3 [Option ID = 267]
4 [Option ID = 268]

A W N -

8) What is the time 6 hours 35 minutes before 15:20 hours ?
(1)9:05 am
(2)8:45 am
(3)8:35 am
(4)9:10 am

15:20 517 7 6 = 35 Az Tga Fr AT g ?

(1) 9:05 am

(2) 8:45 am

(3) 8:35 am

(4)9:10 am
[Question ID = 68][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q38]
. 1 [Option ID = 269]

. 2 [Option ID = 270]

1
2
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]

3 5
9 Jayanti walks 5 km from a place P towards east and then from there 1? km towards west.

Where will she be now from P ?

4
(1) 15§ km towards east of P

1
(2) 4 35 km towards west of P

4
(3) 1@ km towards west of P

1
(4) 4% km towards east of P



st feft e P & OF R ¥ 2 km o & ofw e gt i R i 15
km F@HT 2 | @ 9 P | Fgl 7aq g 2

(1) P #r o Y &1 1 km F¥ g 7w
(2) p & afosm 7t 9 4z km A T T
(3) p & wfo=m Y & 1 km T T T
(4) P # T ¥ 617 4 km Fr T T

[Question ID = 69][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q39]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Which one of the following is not correct ?
(1) Two and a half dozen = 30
(2) 5 litres 30 millilitres = 550 millilitres
(3) 1 millimetre = 0.1 centimetre
(4) 10 paisa=% 0.10

e & F-AT "Er Ag T ?

(1) 3 = &ATET FT59 = 30

(2) 5 #rew 50 Fefieiizs = 550 Maeies
(3) 1 FeHi=T = 0.1 HEH=T

(4) 10 TmT=20.10

[Question ID = 70][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q40]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Which of the following figures does nof have equal number of linear and rotational symmetries
?
(1) Sguare
(2)
(3)
(4) Rhombus

Rectangle

Parallelogram



freforfe arsfaot § & frw st £ o 7 aote aefaty £ dert awEs
TRI2 & ?

(1)

(2) s

(3) T T

(4) T

[Question ID = 71][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q41]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Rehan makes cubes using paper folding. He makes 25 cubes of each side 5 cm. Now, he
needs a big box to keep all these cubes. What should be the volume of the big box so that all
small cubes can be kept in it without leaving any empty space ?

(1) 15625 cm’
(2)3125em’
(3)3375em’
(4) 3552 cm’

T TS HIEHT 99 g97a1 2 | a8 5 om ST ATer 25 99 q91EG7 g | 99 TH
adt =JA T #1 TET F o uE g9 By IR | 29 98 T #7 arEa Haar
T Ty At wft gre uw R A el sy g Y avg e o 2

(1) 15625 cm”
(2) 3125 em’
(3) 3375 cm”’
(4) 3552 cm”®

[Question ID = 72][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q42]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) What is the median of the heights given below ?
160 cm, 167 cm, 158 cm, 158 cm, 161 cm, 158 cm, 160 cm, 162 cm, 170 cm
(1) 161 cm
(2) 160 cm
3)160.6 cm
)

(
(4) 1539 cm



1= 21 TT ATATSAT T JTEAF FATE 2
160 em, 167 cm, 158 cm, 159 cm, 161 cm, 158 cm, 160 cm, 162 cm, 170

cm

(1) 161 cm
(2) 160 cm
(3) 160.6 cm
(4) 159 cm

[Question ID = 73][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q43]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) Read the data given in following table and select the correct statement :

Game liked by students Number of students
Football 60
Chess 50
Badminton 70
Volleyball 20

(One student likes one game only)

(1) The number of students who like Chess is more than the number of students who like
Football.

(2) The number of students who like Badmintan is less than the number of students who like
Football.

(3) Number of students who like Chess are one-fourth of the total number of students.

1
(4) Number of students who like Volleyball are 5 of the total number of students.



Feaforfea afers & =0 10 AfFet F1 TR0 T 981 T4 F1 FA0F Flo

fa=rTfear #1 qa<isT @ i & aer
= 60
T 50
EEIE ] 70
IKIELE 20

(@ﬁmﬁ%qm LED Tl THE Fd %‘)
(1) 97T 96T A ATeq TE=TTEAT T {7 eare T68 Hd 9T A=t i

AT & ATE ¢
(2) A=t udE F2q arer =Gy 1 e At 96T #7349 Jra [Aantgar
N AT T FHE

(3) T THE FIA ATA (HEmiOAl v G fer HwntgEr #57 6 ww
TH-ATITE 9 ¢ |

(4) tefrarter iz F7 AT PR £t e 1o Bt £ e w4 9w
A

[Question ID = 74][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q44]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

15) Which of the following numbers are missing from the given pattern :
0:1.1,2 35,8, ;21,34 .89

(1)11, 43
(2)13, 55
(3) 15, 41
(4)17, 39

Fo T e & AT Het oA E 2
0,1,1,2,3,58,_ ,21,34, .89

(1)11, 43

(2)13, 55

(3) 15, 41

(4)17, 39

[Question ID = 75][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q45]
2. 2 [option 1 - 298]

3. 3 [Option ID = 299]
4. 4 [Option ID = 300]



Topic:- MATH_Q46-60_P1_CTET

1) Assessment in mathematics should not focus upon.
(1) Identifying learning gaps in conceptual understanding of the learners
(2) Planning need-based remedial classes in mathematics

(3) Providing feedback to the learners
(4) Labelling the learners according to their marks in a test

T & AT q< Ffsd dgl a1 ATgT |

(1) ATTHFA A S AT THA § AT § Tg % HHAT1 H1 Tg=WT
(2) 0T & ATASTFHAT ATHATE ITATT FATAT 3 AT

(3) ATERTH=ATAT &7 WA T2 F0T

(4) ATETHFATS T I v H WIS HAFI 6 ATATE ATHHLIT i

[Question ID = 76][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q46]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Which of the following is the most important aspect of foundational numeracy ?

(1) Doing quick and accurate calculations

(2) Developing number sense
(3) Grasp of standard algorithms for fundamental number operation

(4) Developing the skill of counting

Feaforfas § & FEam=r Sear-a1 #7 Ao A=A T89 (T4) F19-97 g 2
(1) ofrerdT & AT qetw Tieme FHIT

(2) FwAT =ver =7 AT FAr

(3) TergT HeEAT AiFEATEr & o qrE FA-Ate T 1 a=Er aw

(4) ITOET 3 FTr HT AETT FEAT

[Question ID = 77][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q47]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



3) As per the National Curriculum Framework 2005, Which among the following is most
appropriate with Primary Mathematics curriculum ?

(1) It must explicitly incorporate the progression that learners make from the concrete to the
abstract while acquiring concepts.

(2) It must include mainly those topics which have application in higher classes.
(3) It should introduce algebraic notations and its use in solving problems.

(4) It should provide opportunities to the students to use various methods of proving theorems.

T IEIEAT ®ET 2005 F A9ATT, GEE A0 aeesar & oo

Feaforfaa § & F9-97 aarias ST 2 2

(1) FeEaTEITEr FY TH AT gu (e S oW g9 7 F5F A T 9859 g0
Fd g, g TAH GEI T F qieqferd gl Ang |

(2)z9H qB=T =T T T THOw (F0%) "R g Fier S 35997
FATAT H ATIET (T 27

(3) ITEIFAT T ST THaAT FT AT THET THETE J 595 STANT FT
T=T FAT FTe0 |

(4) urEr=ar & FEntEt i war #r g e i @Afae @B = swae
FOA & AAAT YZE Fid AT |

[Question ID = 78][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q48]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) A teacher asked a class | student to write 54. The student wrote 504. Which of the following is
the most appropriate strategy to rectify this mistake ?
(1) Ask the child to erase zero from the middle place
(2) Mark the answer as wrong and ask the child to write 5 and 4

)
)

3) Explain how to write two-digit numbers using bundling activity
)

—

4) Ask the student to find out the correct answer himselffherself

forerw 7 v | F fBEmdt 7 54 g & oo wgr | B=mf 7 504 o
ot & 7 F19-Ht 20 Tordt 1 AT B FAEs ITIFT IiAd g 2
(1) F== %1 1= § T 0 (9r77) H=r= & forw wgan

(2) TTT 1 Terq =Hiegd FAT T T== 71 5 37 4 forad & o wzgan

(3) F=T AFTH FT MATATE FT ITAN F2H qg AT 4 =0 1T F=AT0 9
(4) TE=redT =6 == 7 /ST I S Fd o A

[Question ID = 79][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q49]
1. 1 [Option ID = 313]




2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

5) What is the correct sequence for developing the concept of area of a rectangle ?
(a) Covering the given rectangle with erasers or sharpeners and asking the
students to count them.

(b) Measuring the sides of rectangle and calculating its area by multiplying
length and breath.

(c) Covering surface of the rectangle with square tile of side 1 cm and
counting the number of tiles.

(1) (@), (b) and (c)
(2) (a), (c) and (b)
(3) (b, (c) and (a)
(4) (b), (a) and (c)

AT F AT T ATHTO 1 FFHfwrT w77 F 0 77 agsm F1-a1 2 2

(a) BT T qmErT FT =T (TIEA) AT MO ST @wAT A R
Pt & = f=a & oy w5z |

(b) wrTE FT LA FT AOAT AT @A TH HMETE F IO F G
IHF ST I AT FHIAT |

(c) TR F Fetsh F AT 212 (oTael GoT 1 A6 21 7 @&AT a7
ZTEAl it HEAT [T |

(1) (a), (b) & ()
(2) (a), (c) &= (b)
(3) (b), (c) & (a)
(4) (b). (a) & (c)

[Question ID = 80][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q50]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) Brief notes that a teacher takes as he/she observes children, to document a range of
behaviours that children depict while doing an activity/task in a classroom is an example of
(1) Anecdotal Records
(2)
(3)
(4) Project

Rubrics

Observations



FAT H T AT TA/ATT T T T==31 14T F9070 0 AR & TF T (T9)
T AtATET w7 F o0 fveF g =31 B qATAEA FAq g N1 H e
(1) ST ATHerE (VHiE)

(2) =5

(3) FAA T

(4) gfaTeTAT

[Question ID = 81][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q51]

. 1 [Option ID = 321]

. 2 [Option ID = 322]

1
2

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

7) In teaching mathematical concepts the use of visual manipulatives help to move from

(1) Complex to simple concepts
(2) Concrete to abstract concepts
(3) Formal to informal algorithms

(4) Abstract to concrete concepts

TOTATT SATETIOMSAT T TET E F9T EADIA FIHAT AT TR ET RIS
e F TETAE AT g |

(1) Sifeer & 53T FFeTEr

(2) 99 & FHT ATATIOTAT

(3) ST & AATTATIF Fea 1 (4 1271

(4) T | qT AT

[Question ID = 82][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q52]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Problem-solving strategies in mathematics involve

(1) intuition and experimentation
(2) memorisation and procedural fluency
(3) observation and experimentation

(4) reasoning and patterning



T F THEAT-AHTETT 1 Aaa1 7 aieaiad g

(1) AT AT TAET
(2) F3ET FTAT & HATeHT TATE
(3) AR AT TN
(4) T (FFa=) o de aam

[Question ID = 83][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q53]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Which of the following is least appropriate about teaching and learning of Lowest Common
Multiple (LCM) at the primary school level ?

(1) It can be indirectly introduced in primary grades using activity method

)

(2) It cannot be taught to children of primary grade

(3) There are many every day instances where this concept is tacitly used by the children
)

(4) It can be introduced in an interesting manner using ICT

qTAfHE SFAl FAT 9T qHAE gEEae (9.4) F o & s 2g

frefertaa § | FI9-97 99 F9 ST ¢ ?

(1) It AT § TRarwerT AT gET auers =Y F Tha 9 E T w7 ST
HHAT 2 |

(2) =5 TTATHF FEATA T AFT AT Al TETAT T TFH4AT 2 |

(3) Tk SiTae | UH agd | I8 & Sgl 7 T=+ T8 ATATI0N T AAAA =T
YA A 2 |

(4) T=AT T HITW FHATH (ICT) FT TART F7 g0 THFHT T=7 ggd fer=e7
T | AT AT qHATE

[Question ID = 84][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q54]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]




10) When asked to calculate 5 x 28, a child solves it in the following way :
5x28=28x5=(14%x2)x5=14x(2x5)=14 x 10 = 140
The child has used
a. Commutative law
b. Distributive law

c. Associative law
Choose the correct option :

SF TF T4 KT 5 x 28 FT i Fd & o0 Fg7 @0, 99 369 FeAtataa
T F I g AT

5x28=28%x5=(14%2)x5=14x (2 x 5) = 14 x 10 = 140
o= 7 J AT

a. wHEAHT FIq

b. fEarm/EET Faw

c. AE=T Haw

el AFeT F1 F797 FTS ;

(1) (a) 4 (c)
(2) (a) & (b)
(3) ¥ (a)

(4) (b) ¥ (c)

[Question ID = 85][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q55]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Which of the following activities is most appropriate for the development of spatial
understanding among primary grade learners ?

(1) Representing numbers on a number line

(2) Drawing a map of their homes showing relative sizes and position of rooms
(3) Measuring the distance between two cities on a map

(4)

4) Recalling the names of geometrical figures



T 7 % (9t § G v A9t 99 7 @ww 79§ o aqiids
SYFT AT e T § F H-A1 g ?

(1) FEAT THT 9F FEATAT FT TS FIAT

(2) FH71 F AT9Y AT &7 Fgfa 1 39079 g0 d9 g9 B A AT T
(3) T T =T < o A= T T FT AT

(4) SETTHETT ATFAaT F ATH1 HT T

[Question ID = 86][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q56]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) While introducing addition of one digit numbers, Ms. Alka uses concrete objects such as
tokens, pencils, erasers, etc. She provides opportunities to the students to manipulate these
objects to add single digit numbers. According to Bruner, this mode of learning is known as
(1) Concrete
(2) Iconic
(3) Enactive
(4) Symbolic

T ST AT & ART &l T8qa Fd g, G0 AAHT o T aeqal S 21,
HETEl T STed o7 27 awger =T 9 START FTA FT AFAT TIH
T | AT F SgAre, AfaeH F7 I8 T Fgarar §

(=

(2) ZETHTEAT (ATTHIT)
(3) Afaw=9 (THTEE)
(4) TR

[Question ID = 87][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q57]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) A child gives examples of different shapes from his surrounding like ‘Samosa is a triangle’. The
child is at which level of geometric thinking according to Van-Hiele's theory ?

(1) Analysis

3) Deduction

)
(2) Axiomatic
(3)
(4) Visualization



TH F=AT F99 AT, T At arpiet F s 34 @ 99’9 v
Fraer 27 | 72 =T, 4920 i F aqe, st S F e e v E 2
(1) Frgeror

(2) ==

(3) T

(4) FoATHTm

[Question ID = 88][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q58]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) While solving a subtraction problem, 63 - 29, a child says, ‘| changed 29 into 30 and 63 into

64. So, | changed the problem to 64 — 30. My answer is 34." What can be said about this child
?

(1) The child does not know how to solve 63 - 29
(2) The child is getting confused with addition and subtraction

(3) The child has conceptual understanding of subtraction and hence uses an alternate
strategy

(4) The child has neither conceptual understanding nor the knowledge of standard algorithm of
subtraction

STAFAT F1 UF AHAT 63 — 29 F7 A F7d THT UF T=471 Figdl g (% “HF 29 &l
30 | ofiT 63 FT 64 ¥ I« =47 | 91, §5 79747 F1 64 — 30 § qiafaq = =47
TS 34 2 1" 7T g== & AT | FIT Figl ST FHAT 2 ?
(1) F=AT I FZ! Srar 7 63 — 29 FT FH A FLAT E
(2) =T AR AT =AAFAT FT A7 AAHA/Z AT H T2 TATE
(3) == H =F T FATLTIIMHF THH ¢ AT AT T TF AH[0q (HeeTde)

T IO FEAT
(4) T=F F ITH AAHAT Hl1 7 A1 HHedqcHT THH ¢ AT T &1 qTAH Fea-197180
HT AT S

[Question ID = 89][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q59]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



15) In a mathematics class a child responds that
“Tx0=7"and“0x7=7"
In the light of above situation, the child
(1)is being careless and inattentive in the class
(2) needs to be told that multiplication tables startfrom 7 x 1 =7
(3) needs to be given more questions for practice for correct computation

(4) is incorrectly extending the properties of addition to multiplication problems

IO T AT H TF F=4T IAL 2AT g 19
“7Tx0=7"&dT“0x7=7"EMATZI
ST afeferfd & wwrer °

(1) =31 FAT H HATILT g AT 2 Tl 2 @re
(2) THHT T FATH T AAAFAT HFTRE 7 x 1 =T HAHEIT B
(3) T ufeehere g IT AT ATEF T97 FHEATH F Torw 120 1y v sararsar=han
4
(4) FE T =T F AR F O FT 0 T TS H FEia ww wmr g
[Question ID = 90][Question Description = CTET_P1_PART_2_MATHS_SET_119_Q60]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]

3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- EVS_Q61-75_P1_CTET
1) Radha goes 2.5 km towards North from her house. Now turning to the left she goes 5 km and
again turns to left and goes 2.5 km. How far she is from her house and in which direction ?

(1) 5 km South from her house
(2) 5 km North from her house
(3) 5 km West from her house
(4) 5 km East from her house

I @O =97 7 2.5 A 397 Y A7 T g | 9 qrd ggF7 ag 5 AT e
A R T e 25 M. i g | g A e A et e e a 2
?

(1) ==& 5 .ot 3 Rar &

(2)aT & 5 & d47. 3= fRer

(3) =T & 5 .o, ofe=w o 7

@ar 5 &HA o Rar |
[Question ID = 91][Question Description = CTET_P1_PART_3_EVS_SET_119_Q61]

1. 1 [Option ID = 361]
2. 2 [Option ID = 362]



3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2) ‘Valley of Flowers’ National Park is located in which State ?

(1) Uttar Pradesh
(2) Uttarakhand
(3) Kerala

(4) Karnataka

e TTo § ‘et o HIET oA SR A g ?

(1) 9T T=9T
(2) TTTTEE

[Question ID = 92][Question Description = CTET_P1_PART_3_EVS_SET_119_Q62]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3) lama small and skinny chap
Sometimes | am brown and
sometimes black,
Added to hot oil and ghee
| spread my fragrance all around me.
When | am roasted,
Curd and jaljeera are favourite to me.
Think and tell me who am | ?
Identify the spice mentioned in the above riddle.

(1) Turmeric
(2) Cinnamon
(3) Cumin

(4) Clove



F aaeT a1, T EETE

T AT g, ST e o g

T T T T F

q goreg Feran g |

TLT AT Fereiie 7,

9 T AT ST g |

A AETHAE H 2

ST TEAl § Sfeaiad FeTe il Gg=1T |

(1) &=t
(2) FTAATAT
(3) SfrT
(4) =it

[Question ID = 93][Question Description = CTET_P1_PART_3_EVS_SET_119_Q63]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4) Which is the major component of CNG ?
(1) Ethane
(2) Propane
(3) Butane
(4) Methane

CNG T H&T HH2F FAT 2 ?

(1) T
(2) gTu=

(3) =LA
(4) I

[Question ID = 94][Question Description = CTET_P1_PART_3_EVS_SET_119_Q64]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]



%) A student boarded a train on 29" September, 2022 which started from Gandhidham Railway
Station at 12:30 hours and reached Thiruvananthapuram railway station on & October, 2022
at 07:00 hours. If the distance travelled by the train during this time interval is 2296 kilometres,
the average speed of the train is approximately
(1) 58 km/h
(2) 55.5 km/h
(3) 54.0 km/h
(4)53.5 km/h

Fre g 29 Fawe 2022 Fr &Y oA § Fa12 g S WA T@q 29w H
12:30 &S FAHT 1 AFAT 2022 FT 07:00 75 o7 qGTH Ta9 w299 TgAT |
T2 7 A | 29 7 2296 TFardtes it T F6T, a1 59 29 6 6 J9 g
(FFFzem)

(1) 58 FreTHew/E=T

(2) 55.5 PreTHizT/HeT

(3) 54.0 PReTH=T =T

(4) 53.5 Frerrefie/HaT

[Question ID = 95][Question Description = CTET_P1_PART_3_EVS_SET_119_Q65]
1 [Option ID = 377]
2 [Option ID = 378]
3 [Option ID = 379]
4 [Option ID = 380]

A wN =

6) Your house is located at X and your school is located at Y and there is no straight road
between X and Y. So, in order to reach the school you first go to A which is 60 m due North of
X, then go to B which is 25 m due East of A, then go to C which is 100 m due North of B and
finally you reach your school which is 25 m due West of C. With respect to your school the
correct direction of your house is
(1) Due North
(2) Due South
(3) North-West
(4) South-West



ST " X @i s Femer Y ux fua § s X s Y F i wi it asw
el g | @7 FEmas ag=a & o ary 9ger A 97§19 g S X F 36 397 § 60
MRS, BT ATE MAFIF @A 25mgA e e
ST 8, ST B % &% I9¢ § 100 m T T 97 AT o= H AT A9A ==
TEAd ¢ W1 C F 306 Tf9=H § 25 m 0 T IF g | A0 =T F qheT Areh
EEIC A EA N

(1) &= 397

(2) &= =&
(3) TTE-aie=TH
(4) =faur-afi=y

[Question ID = 96][Question Description = CTET_P1_PART_3_EVS_SET_119_Q66]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7) Select from the following a pair of birds having excellent sight and can distinctly see things
from a distance four times as far as we can.
(1) Crow and Owl
(2) Kite and Vulture
(3) Indian Robin and Eagle
(4) Barbet and Crow
foreforfare & & ot %1 7 T (SiveT) S Rre 57 T g S
TE AT qadT | Fvgdl 1 =71 A1 320 T2 373 994 ¢ |

(1) T3 37 Foeg

(2) Frer & frg

(3) FATHET AT THE
(4) T T & e

[Question ID = 97][Question Description = CTET_P1_PART_3_EVS_SET_119_Q67]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8) Select from the following, a pair of diseases caused/spread by mosquitoes :

(1) Malaria and Dengue
(2) Cholera and Chikungunya
(3) Cholera and Malaria
(4) Chikungunya and Typhoid



Fereforfare & & et ST SE/ETT ATer 51 TR 3 e (S1E) A IR
(1) FerfrT sire F

(2) g=i &rT g
(3) TS T HATLAT

(4) =T & T gam

[Question ID = 98][Question Description = CTET_P1_PART_3_EVS_SET_119_Q68]
1. 1 [Option ID = 389]

2. 2 [Option ID = 390]

3. 3 [Option ID = 391]

4. 4 [Option ID = 392]

9) On the map of a city, following scale is mentioned at its right bottom

Scale 1 cm = 950 metres
If on this map the measured distance between any two places is 19.2 cm, the actual distance

between the two places is approximately

(1) 20 kilometres
(2)

(3) 19 kilometres
(4) 18 kilometres

19.5 kilometres

Freft oz 3 gt 3 e 31T wwr o7 F = = o deer g

AT 1 Tt e = 950 HizT

12 27 "= 7% gl 31 2t F @7 /vy 7 € 19.2 A e 8, S E
et et ¥ i At ARt T8 & ()

(1) 20 FreTfiee

(2) 19.5 Frari=s

(3) 19 PrefTHi=T

(4) 18 FFarfies

[Question ID = 99][Question Description = CTET_P1_PART_3_EVS_SET_119_Q69]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]

3. 3 [Option ID = 395]
4. 4 [Option ID = 396]



10) A visitor gave the following description of most of the houses of rural areas of a state :
“In this area rainfall is very scarce. Weather is generally hot and the people live in mud houses.
The walls of the houses are made thick and are plastered with mud. The roofs are made of
thorny bushes.”
The state must be

(1) Madhya Pradesh
(2) Gujarat

(3) Rajasthan

(4) Jharkhand

(E e D o B O B e R T o L B e 7 B A e R B 1 B e A G R CE R
1

T vgd g | F0 bl AT Hiet aATe St g A% 9 AT ®l (Hel o Arar-ardr
STAT & | =9 Al A e T AT | I v g |

A T gl A

(1) e 7397

(2) T
(3) T

(4) FTTETE

[Question ID = 100][Question Description = CTET_P1_PART_3_EVS_SET_119_Q70]

1. 1 [Option ID = 397]

2. 2 [Option ID = 398]

3. 3 [Option ID = 399]

4. 4 [Option ID = 400]

11) “Char Chinari” is a very famous tourist place. This place is surrounded by mountains and is

located in

(1) Hyderabad
(2
(3
(4) Srinagar

Lucknow

)
)
) Mysore

)

‘T AT U 95 Wiig THes-54 ¢ | Ag 90 a9 8§ yEar 7 6w g a9
fore gz 4 RUq 2 IHFTATH &

(1) 237TaTE

(2) =TS

(3) A Y
(4) e



A W N -

A wWw N =

[Question ID = 101][Question Description = CTET_P1_PART_3_EVS_SET_119_Q71]
1 [Option ID = 401]
2 [Option ID = 402]
3 [Option ID = 403]
4 [Option ID = 404]

12) Select from the following an animal whose sense of hearing is so sharp that it can make out
the difference between the rustling of leaves and the sound of an animal moving on the grass.
(1) Sloth
(2)

(3) Tiger

(4) Horse

Dog

eaforfa § 7 99 swae =1 0 S g #t 337 afF saar qem g &
g T & g o< = 7 PRt STHEe F Fod | e < i ahar g |

(1) =

(2) 3=

(3) I

(4) FT=T
[Question ID = 102][Question Description = CTET_P1_PART_3_EVS_SET_119_Q72]
1 [Option ID = 405]
2 [Option ID = 406]

3 [Option ID = 407]
4 [Option ID = 408]

13) Which of the following pair is correct ?

(1) Wheat : Tap Root
(2) Maize : Tap Root
(3) Carrot : Tap Root
(4) Bamboo : Tap Root

o & S9-ar Te a8 g ?
(1) g : T §E

(2) FET : THT TE

(3) =TT : THAT ST

(4) =t gEAT TE

[Question ID = 103][Question Description = CTET_P1_PART_3_EVS_SET_119_Q73]

A W N -

. 1 [Option ID = 409]
2 [Option ID = 410]
3 [Option ID = 411]
4 [Option ID = 412]



14)

Consider the following statements about a tree named “Desert Oak” :
A. This tree is found in the deserts of Abu Dhabi.

B. This tree grows almost as tall as the height of a common classroom of an

elementary school, i.e., about 4 metres.
C. lItsroots go deep down into the ground till they reach the water level.

D. The length of the root of this tree is about 50 such trees laid down in a line end

to end one after the other.
E. This tree has very few leaves.
The correct statements are
1A, BandC
2)A,DandE
3)B,CandE
4B,DandE

e, e, e

TR S JT9F 27 % @9 § A =0 70 w1 97 fF=e A

A. IF T4 AT FTET F T H T SEE

B. =0 9 H1 $ATE TREaT FEnedl & F90 A HA1e A1 aTHT
4 TET g 2

C. z® 39 i I IF TgLE T%F FHIA § &A1 91« 7% T oty 7
T T F TgA S |

D. ZAFI WET il AFTe AT UH g1 TATH FAT Hl TF @129 § UF &
Az g7 # uF B 7 a7 A 9% 9 a7 e 39 % e
T |

E. 37 T 9% T ogd FH gl 2 |

THH T TE1 AT 2

(1)A, B &7 C

(2)A, D#HTE

(3)B,C #HTE

(4)B,D @I E

[Question ID = 104][Question Description = CTET_P1_PART_3_EVS_SET_119_Q74]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]



15) Select from the following a State/Union Territory where people like to eat fish cooked in
mustard oil

(1) Kashmir

(2) Goa

(3) Lakshadweep
(4) Puducherry

fReferfaa & & e Trsa/ae orfae &0 3 o0 §2971 % 9o § a91/T=h TGl
(1) FeHiT

(2) T

(3) wTEAETT

(4) T

[Question ID = 105][Question Description = CTET_P1_PART_3_EVS_SET_119_Q75]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

Topic:- EVS_Q76-90_P1_CTET

1) Anecdotal records are used to
A. Identify a child's areas of interest and relationships
B. Make judgements about a child
C. Provide solutions to a child in problematic situations
D. Know strengths and weaknesses of a child
The correct option is :
(1)AandB
(2)Band C
(3)AandC
(4)Aand D



A. == Y =T ST HEe F A A TgaE e 9
B. = xAmrHfmmaad

C. FH=Al #f TPITa=1 § g== &l GH14E T2 Feed §
D. T=7 Fil AHATAT AT FTHALAT Fl AT H

el AT g :

(1) A#TB
(2)B#TC
(3)AdTC
(4) AFTD

[Question ID = 106][Question Description = CTET_P1_PART_3_EVS_SET_119_Q76]

1. 1 [Option ID = 421]

2. 2 [Option ID = 422]

3. 3 [Option ID = 423]

4. 4 [Option ID = 424]

2) Astha asked her class IV learners two short questions before starting the chapter on spices.

Through this, Astha wanted to

(1) check previous knowledge of students

(2) identify intelligent students in the class

3) identify learners with good confidence and communication skills
)

(
(4) elicit learners' ideas about the topic — spices

THTAT T O15 TE F TH AT 7 A9 FHem [V F frant@ias & 21 g 797 1 |
(1) =TT % TF T W AEAT
(2) FeaT H Figa™ F=tE=dt 1 Ig=raer
(3) w=5 Treamer o s Frerert & Frenf¥at 1 ag=ma
(4) Brr-mETe, F A § Fenfaen & = ara w2
[Question ID = 107][Question Description = CTET_P1_PART_3_EVS_SET_119_Q77]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]

3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

3) Madhavi took her class for a field trip. After coming back she discussed the trip with her
students. It may be stated as
(1
(2
(3
(4

Assessment of learning
Assessment for learning

Assessment as learning

T o e S

Assessment while learning



qUEAT JIAT FAT FT GA GHU T A AL | ATTF AT F T9ETT Srgid AT
o=t & a1y 9= 9 T E= A | T SO w0 § s e s ewar g, 98 B
(1) ATERTH FT A
(2) #AferTH & Form drer
(3) @rrere, AfETH F = F
(4) AfERTH & FTT ATEA
[Question ID = 108][Question Description = CTET_P1_PART_3_EVS_SET_119_Q78]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]

3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

4) Effective teaching-learning will take place only if

(1) the teacher conducts it to complete his/her lesson plan.

(2) the teacher conducts it in compliance with school orders.

(3) the teacher transacts lesson plan for activity-based learning upon peer’s directions.

(4) the activities conducted by the teacher help children in constructing knowledge and
undersanding the concepts.

TATAT FreAor-aferTT et Tt Haa g e

(1) forerss ST T3 ST &7 IO F9 & 70 1 F7 |
(2) foreasr TH=TerT AT=9T T T F9 o (o1 7 7 |
(3) forers w9w \gATHAT & F=er 9% sy snania @tenms % o a1
TTT HT FEATRT Fi7 |
(4) forers F gIT Ao ATt 7 F=A1 A A FT FAHOT wA T
AT BT HHAG H wgraar {6 |
[Question ID = 109][Question Description = CTET_P1_PART_3_EVS_SET_119_Q79]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]

3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

5) To assess socio-personal qualities of children engaged in learning of EVS through group work,
the most appropriate tool will be

(1) Assignments

3) Rating Scales

)
(2) Paper-and-Pencil Test
)
4) Oral Questions

(
(



T O G AT, TEA/A ATRTH H SIET a1 % ATHI S-S e o
FT ATHAT Foed & [T, FATTEH ST STHIOT g

(1) e =

(2) FTT-T e Tdrem

() &Amft JTTAT (TTET =)

(4) At o
[Question ID = 110][Question Description = CTET_P1_PART_3_EVS_SET_119_Q80]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]

3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

6) As an EVS teacher which of the following factors will you consider while planning a group
activity for your class ?
A. Arouse interest among children
B. Inclusive in nature
C. Cost effectiveness
D. Canonly be conducted outdoors
Choose the correct option :
(1)A,BandC
(2)B,CandD
(3)A,CandD
(4) Only A

TE T ATLUE. F forAw F = H qUAr T F AHg AT T AT F91T g0
E e o E 1 0 = e B 7 B e e R o R e

A. T==1 § gfest s

B. wafer & aomasft

C. ok FHTET

D. A "1g HATeAd &l ST Thel g

aEr AFeT #7137 Ffe

(1)A, B C

(2)B,C & D

(3)A, C#HTD

(4) FaT A
[Question ID = 111][Question Description = CTET_P1_PART_3_EVS_SET_119_Q81]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]

3. 3 [Option ID = 443]
4. 4 [Option ID = 444]




7) Priyanka wants to sensitize her students on conservation of trees. Which amongst the following
will be least effective in attaining the desired objective ?
(1) Encouraging students to plant a tree and take care of it.
(2
3

(
(4) Visiting a mill to show storage of logs of wood.

Organizing a role play on forest conservation.

)
)
) Telling the story of ‘Chipko Movement’ and asking questions.
)

TorarrT erorit fEm it i1 gt & e F 9i fasmefier a9 =gt g | ey
TE9T F1 9o Fed H, Fetariaa § § s 2maq 99 grm ?

(1) =TT 1 U 8 T AT IHAT SFATA FiTed o (o0 T F2AT |

(2) A FTHW g7 UF AT g argrora HeAv |

(3) ‘T=T=T AT X FFTAT AT AT T9T TIAT |

(4) TFET F AZ1 ® W0 T FEr a7 wE He it 47 97 q1E |

[Question ID = 112][Question Description = CTET_P1_PART_3_EVS_SET_119_Q82]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]

3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

8) ldentify the student-centred approaches in teaching-learning of EVS from the following :
A. Autocratic style
B. Permissive style
C. Integrated approach
D. Process-criented approach

(1) Only A
(2)Aand B
(3)CandD
(4)B,CandD

¢ AT TH. F A ATy § gr-Aad SUnHI S et | T o= fiten

A. T 9efT

B. #sATeHa AT

C. TR STTH

D. AT-HT9TE IS
(1) Fa7 A

(2) AFTB

(3)Cc#D

(4)B, C #* D



[Question ID = 113][Question Description = CTET_P1_PART_3_EVS_SET_119_Q83]
1 [Option ID = 449]
2 [Option ID = 450]
3 [Option ID = 451]
4 [Option ID = 452]

A w N =

9) Values are part of our behavioural system.
(1) Affective
(2) Cognitive
(3) Psychomotor
(4) Affective and cognitive both

=

ZHTT SEGITITH 3 T, o TF A 2 |
(1) 9TaTH=
(2) a=tTTHE

(3) HATTTH
(4) ATATHS T GATATHT 2091

[Question ID = 114][Question Description = CTET_P1_PART_3_EVS_SET_119_Q84]
1 [Option ID = 453]
2 [Option ID = 454]
3 [Option ID = 455]
4 [Option ID = 456]

A W N -

10) The nature of EVS can be best described as
A. It integrates several disciplines.
B. Itis child-centred.
C. It is experiential.

D. It isteaching-based.

1)A,BandC
2)B,C,andD
3)Only C
4)Only B

e e



T 310, g FT 39 ATAT FY AT AFAT G
A. Tg F= ATt T FHER O Far g |

B. I dATA-Firad g |
C

. Tg AqHAST |
D. I farerr aramfa 2

(A B#HTC

(2)B, C, &% D

(3)F=w C

(4) %37 B
[Question ID = 115][Question Description = CTET_P1_PART_3_EVS_SET_119_Q85]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]

3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

11) From the words given below, choose at least 3 words/options which describe ‘Environment’.
A. Floraand fauna
B. Biotic and Abiotic
C. Social and Cultural

D. Creative and Curious

1)A,BandD
2)A,BandC
3)Band C

4)A, CandD

e T e T e SR

A 30 T ersst F A, W F9 U9 AW oss/Awent & 539 Fifen
TAETI FT ZATEAT FIA 2 |

A. FATETE-STE ST AT

B. sifa= mH sofAw

D. THATHE U5 &=

(1)A, B &= D

(2)A, B3 C

(3)B#TC

(4)A, C#TD
[Question ID = 116][Question Description = CTET_P1_PART_3_EVS_SET_119_Q86]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]

3. 3 [Option ID = 463]
4. 4 [Option ID = 464]



12) In EVS teaching-learning process, linking classroom experiences with real-life experiences
outside classroom best implies

(1) going beyond the scope of curriculum
(2) going beyond the specific grade

(3) going beyond the textbooks
(4)

4) going beyond the level of learners

¢ ATTH. F - AT8eTH WA |, TAT F ATET AT AT AT F ATAAT T FHaqT
F ATFAT T STISAT FAEF Hohd F2aT &

(1) 9T5T=41 & &F | q1g7 [0

(2) FATIrez =7 7 A8 (=T

(3) TTEITETRI F ATET ST

(4) ==t & =92 F Frge Sl

[Question ID = 117][Question Description = CTET_P1_PART_3_EVS_SET_119_Q87]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

13) ‘Survey and write’ has been included in some chapters of EVS textbook for grade 5. It aims at
(1) giving opportunities to students to explore and learn
(2) giving experience to students

(3) improving practical skills of students

(4) improving general awareness of students

FEAT 5 T A1 0H. IS & T T T a7 o aftafed Far T g
| THHT S29T 8

(1) FE=rfa=T =1 Jred ud s F q997 397

(2) A== 1 s 347

(3) FA=ITIE=T 3 TIT FrereAt 7 Tga< qA197

(4) = & e ST aT i 9gd? AT

[Question ID = 118][Question Description = CTET_P1_PART_3_EVS_SET_119_Q88]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]
3. 3 [Option ID = 471]
4. 4 [Option ID = 472]



14) Which of the following is an effective strategy of EVS 7

(1) Lecture

(2) Practical

(3) Role Play

(4) Demonstration

Feaforfas § 9 59 370w i vt & § 2

[Question ID = 119][Question Description = CTET_P1_PART_3_EVS_SET_119_Q89]
1 [Option ID = 473]
2 [Option ID = 474]
. 3 [Option ID = 475]
4 [Option ID = 476]

A W N -

15) The approach of teaching-learning of EVS that uses different skills to learn new things is

1) Conceptual Approach

3) Integrated Approach

(
(2) Process Approach
(
(4) Activity Approach

A0 A e g € A e 5 e sfee F e g § @At s v
(1) ot ST
(2) F7aT 3T
(3) FHTH T IITTH
(4) Fram=eTT 3aTTH
[Question ID = 120][Question Description = CTET_P1_PART_3_EVS_SET_119_Q90]
1 [Option ID = 477]
2 [Option ID = 478]

. 3 [Option ID = 479]
. 4 [Option ID = 480]

A W N -

Topic:- HIN_Q91-99_L1_P1_CTET



") fREer ; fAEforfEe TErTer #T UEFT [E T TAT & AgT |95 U 397 a7
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHHATE |

A 38 F F 70 AT g 2
(1) &t
(2) T

(3) T
(4) =TT

[Question ID = 151][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q91]
1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]



2) foder ; fA=TerfEe TETrer # 9EET T T YA & A9gT [99H 3UgTh 997 a7
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHHATE |
T, FAT T T g €, FAE

(1) =TT FH T T T2 2T TFAT 2 |

(2) TF F 1% UF A% e=a0 G Aol 2 |

(3) T=gT0 FHT g, I qfd HAT 731 g |

(4) Tt T Z=ar A T ARl T ST AT
[Question ID = 152][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q92]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]

3. 3 [Option ID = 607]
4. 4 [Option ID = 608]




3 fRder ; fAefefae Terer &7 BET 75 T JHT & 9gT (999 3ugT 997 a7
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHHATE |
fAeferfas § & F-a7 sftaa & e #7151 9gis ?

(1) Frer
(2) 718
(3) e
(4) FaTT

[Question ID = 153][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q93]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]




4 fader ; [RETfefaa TErrer T 9EHT 95 0 TAT # qgi 993U g7 I
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
FT 915 FgT B | FH, FL, ATH AT HIg F a7 % @197 F7 570 /047 AT 2
AT ZTT @9 7 gk Bt g | 9607 F q56 9€ T997 gt A 9gIeT a9
qFATE |
TR F ATATL AASA FT I Flel g ?
(1) Frer
(2) A7
(3) 7197

(4) =TT

[Question ID = 154][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q94]
1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]



5) fAeer : [AETeEeT T FT 9EFT T AT TAT F Ggl | TET gugT g9 AT
fame &7 AT |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
Fft Q0T &l 2rAt 2 | TF T=r Al Ifd giat g, a1 3940 5o of odi g | 39 T
TR T ATALA HH FAdT Tgaml g | Tl =0 of T T:@ &1 FIC0 gl
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT g, S99 AT FT T4 Fedq Tgaq0 ¢ | 994 & FOgl § A9 F Jr47
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
AT ZIET @rd 7 qiwn Feret g | dq0T F 9070 9% F9F5 g An Agrged a9
qHHATE |
TWRTI F FATATE 7 B AT g a9 | g, ST

(1) T F I 9T THAT TTH Fd 2 |

(2) A9HT T F=F FA94 2 |

(3) ST wea= Eurfa § #qE 7gd 2 |

(4) ST AT AT FT T T A E
[Question ID = 155][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q95]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]

3. 3 [Option ID = 619]
4. 4 [Option ID = 620]




6 fader ; fA=Teriae Terier &7 TET T T FHT & 9gT [39H 3ugT 997 a7
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHHATE |
‘Hiwr T = o= §

(1) 77T
(2) 4=
(3) =
(4) FErermaT

[Question ID = 156][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q96]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]



7 fder ; fAETefEe TErer #7 9ET 9 T FHT & 9gT [99H 3ugTh 997 a7
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHHATE |
“Z=aT | T ToAF T O qA

(1) ===
(2) T~
(3) ===
(4) T=F

[Question ID = 157][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q97]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]




8 fader ; fA=TalET TETrr FT 9EET T T THT & AgT [FEH 3UgT 997 a7
fameT Fr AT |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
Fft Q0T &l 2rAt 2 | TF T=r Al Ifd giat g, a1 3940 5o of odi g | 39 T
TEGTA T ATALA FF FAdT Tgdl ¢ | Ter T=aT0 ot HAT & T T FHTL00 graf
e | 7T EH HFT @ TET g, 97 AUAT THITA FT FHA FIAT gNIT | GATT
HAMGAT T FZT AT — Sa7 § THAAT H0 I8 F o0 {579 it 1 Arae7=F G171
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
=T 9T Fgl & | FIH, Flel, o AT {ig F Sae & &Aq7er F7T 578 /97 047 2 )
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHFATZ |
(1) F=rfraTT
(2) Fe=9
(3) FHETTT
(4) FgATE

[Question ID = 158][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q98]

1. 1 [Option ID = 629]

2. 2 [Option ID = 630]

3. 3 [Option ID = 631]
4. 4 [Option ID = 632]




o) fader ; fA=ETalET TETrer #T 9gET 9 T FHT & AgT [99E 39gT 997 a7
fameT Fr g7 |
AT UF AT I 2 | A 939 AT e=g0aid § o907 TgaT ¢ | 79 T=agn
FT IO7 AT BT & | UF T=@1 A qIhd gidl g, 91 090 oe ) of ol g | 30 &%
TSN T AL HH AAGT €ZAT g | LT T=10 &1 TAA F T:9 T FIC0 ST
g | OfT g5 |g0 99 T g, a1 ATAT TEAl KT FHA FIAT gHIT | AT
HATTGAT 7 FgT AT — SAT F FHeAam =60 9 T {57 o0 1 Ar=eeeh G0
STAT 2, I8 Ad1T FT 9 S0 Hg=aq0l g | 97d & HEOdl § 19 H7 J199
T 9T F2T ¢ | FIH, HE, AT AT HI 1 S0 6 f&AA797 F7 Z7 AT A7 2
HATT ZWT @19 | FiF Fodt 2 | GarT F q6 9 T2 gf Ah Agleq a9
qHHATE |
ag i o= g

(1) F
(2) A

(3) 7T
(4) &=

[Question ID = 159][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q99]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

Topic:- HIN_Q100-105_L1_P1_CTET



") fAeer ; [AETATET FTATr FT 9EHT TE T TAT & Agl [T gugh g9 a7
e #7 AT |
g @i e T . |
o T AT F AT H ?
TAd & ST T4 TEE |
A 1 L 7T 2,
eI ITAT a9 HTAT1 E |
0T FE TF A T TET,
AEEEIGELER 1GEd
AT | S AT gl
FiT-A= IR 2T,
T ST G STATdT 2,
IS A2l =g 9T 2 |
FAAT F FTA % 6 07 7 e FFAr A g ?

(1) FZeferar
(2) arf<FaT
(3) Trer

(4) FIAA AT

[Question ID = 160][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q100]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]



2) foder ; fAwfoifad TS Fif 927 & 707 471 & Agh (79 94 g7 TT0
fameT #T AT |
T I e T 9,
o o At F 9T H ?
AT % ST 719 3EL |
Hidg wig Al «dial '_a',
TegT qTHT a9 ST E |
O FE TF H U TG,
2 & Ama & Eae,
Hgal § 59 ATt gl
Fi=T-= SRmETT 2T,
FAT ST qET SAATAT 8,
IS 21 =g AT 2 |
‘qEIT T A ST g | A AT g

(1) FHAT FT FTT FAT
(2) T7IT & TTHT AT
(3) T AT foEerET

(4) SFAHHT FT AW FHLAT

[Question ID = 161][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q101]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]




3 fAder ; fFEfafaa FT=a7er F7 5% T8 77 41 F AgT T80 0 g7 1T

Ao 7 147 1

T 1 B TET S,
ew oF At F 97 H ?
AT & W1 719 3EE |
A 1 L 7T 2,
eI ITAT a9 HTAT1 E |
0T FE TF A T TET,

£ & mra & e,
T FT-= SRETT 2T,
FAT ST qE1 SATAT 8,
IS A2l =g 9T 2 |

T & ra &g Spon it e e & T g 2

(1) "g=t & 9=t § fodt sforarett

(2) Tt ¥ =t & Fpdt evfora

(3) Hgat & o=t § ot giaret

(4) f’lﬂiﬁ % a1 | =T 5=
[Question ID = 162][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q102]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]

3. 3 [Option ID = 647]
4. 4 [Option ID = 648]




4 foder ; fFefofaa FTaATer 1 9% T8 7 747 # g1 [Ta€ g9 a7 07
e #7 AT |
g @i e T . |
o T AT F AT H ?
TAd & ST T4 TEE |
A 1 L 7T 2,
eI ITAT a9 HTAT1 E |
0T FE TF A T TET,
AEEEIGELER 1GEd
AT | S AT gl
FiT-A= IR 2T,
T ST G STATdT 2,
IS A2l =g 9T 2 |
F17 AET F ATHA THET AT

(1) 7&7 2T SATAT 8
(2) e BT SATAT 8
(3) FZFT AT 2
(4) FETT a7 AT &

[Question ID = 163][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q103]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]



5) fAeer ; fAEfofaa FTa7er F7 5% T8 77 T4T F 78T T80 g g7 AT
Ao 1 A7 |
¢ i A a9,
ew oF At F 97 H ?
TAd & S 719 34EE |
A 1 L 7T 2,
eI ITAT a9 HTAT1 E |
0T FE TF A T TET,
¢ o mrat & e,
T FT-= SRETT 2T,
FAT ST qE1 SATAT 8,
IS A2l =g 9T 2 |
(1) == FATHT ERIT
(2) 75 FTAT g
(3) TeT TETEA 21T

(4) FHS AT 0TI

[Question ID = 164][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q104]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]



6) fader : fAwfoifad FTaATS T 927 & 707 T4 & Agh [Fad 94 Ia7 TT0
T 1 A7 |
¢ e e a9,
o o At F 9T H ?
TAd & S 719 34EE |
HidA wig Al «ial '_a',
TeqT qTHT A STAT 8 |
O FE TF H U TG,
2 /& Amar & Eae,
Hgar § 59 ATt gl
T FT-= SRETT 2T,
FAT ST qE1 SATAT 8,
IS A2l =g 9T 2 |

(1) FF7=TT TTET
(2) = T AT
(3) T TOT FT ATH

(4) TF 9TET FT ATH

[Question ID = 165][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q105]
1. 1 [Option ID = 657]
2. 2 [Option ID = 658]
3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

Topic:- HIN_Q106-120_L1_P1_CTET
O g F qitaew § e qrar AfH g e 7 g gan g " ag Hma wgr g ?

(1) Tt

(2) 7T

(3) foramsr

(4) ATEITERT
[Question ID = 166][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q106]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]

3. 3 [Option ID = 663]
4. 4 [Option ID = 664]



2) T H ATE gATAAT BT HLAAT A FH FH1 FFi==a w77 Arer Fa= i 7 i 5w
TR e | FeTae FT A T T = TRl g ?

(1) == e
(2) 3T 7T

(3) T AT
(4) st =

[Question ID = 167][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q107]
1 [Option ID = 665]
2 [Option ID = 666]
3 [Option ID = 667]
4 [Option ID = 668]

A W N =

) qIT qAF F AT Allgw HwE F HE UF UgE ¢ | I FA9 dHE-Aard e
HEfaT g ?
(1) T
(2) B
(3) Farars
(4) AT
[Question ID = 168][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q108]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]

3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

) gepreor FATE =67 ST e & ST Fa-A1 79 "5l 2 ?
(1) TETAATH — ATHF — FfALE - fgor
(2) TR - ATFIW - 37 - wiAgie
(3) wereETy - B - agEewr - gt
(4) wereraey - Ut - B - g

[Question ID = 169][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q109]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

5) AT (FrerAT) =T T g 2
(1)o7 zfesT
(2) srfe e
(3) =rAwT TP
(4) st FiesT

[Question ID = 170][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q110]



1 [Option ID = 677]
2 [Option ID = 678]
3 [Option ID = 679]
4 [Option ID = 680]

6) FTAATTHA SATHLIT T ATLTIN e HaAtad g 2

(1) 7T

(2) frms

(3) FTHET

(4) ATSITeET
[Question ID = 171][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q111]
1 [Option ID = 681]
2 [Option ID = 682]

3 [Option ID = 683]
4 [Option ID = 684]

7) FEATTE HAT H TH ATH UL qlAE AT T T2r g OF foramedt eatem @i fAtuw
AT T A q=eh dvg 997 @ | AATTH Foed gq1tag g 2
(1) FTATTEF TUWTH
(2) HATToHF SUTH
(3) HZAATHF IATTH
(4) Frer e 3T
[Question ID = 172][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q112]
1 [Option ID = 685]
2 [Option ID = 686]

3 [Option ID = 687]
4 [Option ID = 688]

A W N -

A wWw N -

A W N -

8 S ag AeI-gTE-ATT F TATS % ATF 21 52T ATHFAT Sd | S[AT, I0ar 91, §
oY, A= AR ZT ATH=T= F7d 2, 77 78 T 9eem 2 2
(1) 3T 9T==1T Hfers qraT
(2) T
(3) FA=EATAT
(4) 7T
[Question ID = 173][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q113]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]

3. 3 [Option ID = 691]
4. 4 [Option ID = 692]



9 frafafas § a === 12« Fentai = afd=ir ger gwdg qmrar fit
Te a1 AT 7 T f=a a2
(1) T= ATe ATHITH
(2) TF HIEA Y AA
(3) == forear srferame
(4) Festteer Efear &=

[Question ID = 174][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q114]

1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

10) fReferfad § 7 F19-97 H6d (F2) FT I AT (TAHIET) g 2

(1) S

(2) T

(3) T (4T)
(4) TR

[Question ID = 175][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q115]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

") g =Teh % OTH ATEAT0, A9t A= g & /T s st F fgear
Rt & aror =1 -8 9w 9w g 2

(1) arfer=fes

(2) TEATHS
S ECHERIGED
(4) Fer

[Question ID = 176][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q116]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]
4. 4 [Option ID = 704]



12) fsforfad 5 & FIa-A1 T 1% 91T IgE e & o a1 g s awdar
?
(1) 3t I
(2) FTaT 913
(3) TET BT
(4) FETT fera
[Question ID = 177][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q117]
1 [Option ID = 705]
2 [Option ID = 706]

3 [Option ID = 707]
4 [Option ID = 708]

13) e farg] =SH-ET % T Y ST 91 H T=F F A== wd g, 99 - |
FTATITAT AT FTATATT AT 55

A wWw N -

Ig e 3=TgEm g ?
(1) T

(2) TFATAT

(3) TTAT

(4) iR

[Question ID = 178][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q118]
1 [Option ID = 709]
2 [Option ID = 710]
3 [Option ID = 711]
4 [Option ID = 712]

14) qrar AR ATHT: SEOA-Uia AT gad & FAwr g 5 gihaeT aern,
ATHIT AT FHSEA TR0 ZIET Ao BRAT ST 2 | A e TR Heig g 2

(1) FAGATAT HZT

(2) T ==t ZfE=m

(3) HRTHTH g

(4) T=ATRT T
[Question ID = 179][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q119]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]

3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

AN wN -




15) fererferfara & & -7 AT wzw Froer Bt o ¥ o swrw ag@is 2

(1) =T T3
(2) I T T5T

(3) o= Rarrery = forT wae
(4) T3 =T FT TTRT

[Question ID = 180][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_119_HINDI_Q120]
1 [Option ID = 717]
2 [Option ID = 718]
3 [Option ID = 719]
. 4 [Option ID = 720]

A wnN =

Topic:- ENG_Q121-128_L2_P1_CTET



1) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

The purpose of the report is to

(1) promote online shopping of various type of products.
(2) encourage use of health and fithess apps.
(3) inform the readers about time spent on mobile phones in 2021.

(4) promote sale of android phones to have access to various apps.

[Question ID = 331][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q121]

AW N =

1 [Option ID = 1321]

. 2 [Option ID = 1322]

3 [Option ID = 1323]
4 [Option ID = 1324]



2) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

According to the report the phenomenal increase in time spent on mobile phones was due to

(1) awareness of usefulness of various mobile apps.
(2) Our thinking process
(3) promotional campaigns launched by companies.

(4) substantial discounts offered by mobile companies.
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3) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

Instagram is a/an

(1) online shopping app for fashion and electronics.
(2) photo and video sharing app.
(3) free messaging app.

(4) popular health and fitness app.

[Question ID = 333][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q123]

A w N =

1 [Option ID = 1329]
2 [Option ID = 1330]
3 [Option ID = 1331]
4 [Option ID = 1332]



4) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

Read the following statements :

A. India clocked over 256 billion app downloads in 2021.

B. India stands at fourth place in terms of time spent on mobiles.
(1) A is true and B is false.

(2) A is false and B is true.

(3) Both A and B are true.

(4) Both A and B are false.

[Question ID = 334][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q124]

A W N -

1 [Option ID = 1333]
2 [Option ID = 1334]
3 [Option ID = 1335]
4 [Option ID = 1336]



5) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

The word, ‘surpassed’ in para 2 means the same as

(1) increased
(2) exceeded
(3) proceeded

(4) succeeded
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6) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

The word opposite in meaning to the word ‘spike’ in para S is

(1) decrease
(2) lease
(3) precede

(4) increase
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7) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

The word ‘impact’ in “—-—- thanks to the impact of —" in para 1 is a/an
(1) Adverb

(2) Adjective

(3) Noun

(4) Pronoun
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8) Directions : Read the report given below and answer the questions by choosing the best/most

appropriate options :

1. Chennai : Indians spent almost a third of their waking hours on their mobiles in 2021, thanks
to the impact of the pandemic on digital habits. The average hours spent on a mobile per day
per user surged by around 4-5 % from 3-7 hours in 2019 to 4-7 hours in 2021, according to
data from a glebal app intelligence firm. The time spent on mobiles in 2020 had stood at 4-5
hours per day. Overall, India saw 655 billion hours spent on mobiles in 2021 (on Android
phones) — a 37% increase since 2019 (381 billion hours).

2. India stood at fifth place globally in terms of time spent on mobiles after Brazil, Indonesia,
South Korea and Mexico. Users in the top three countries surpassed five hours per day on
mobile apps.

3. “Year 2021 was another blockbuster in mobile, following a pandemic-induced catalyst to
mobile habits in 2020. We saw the average user in the most mobile-first markets spend 4-8
hours a day, equating to nearly one-third of waking hours — up 30% from preCOVID levels,” A
mobile expert said.

4. Consumers in India spent an annual 7-6 billion hours on shopping apps — a 16%
year-on-year (YoY) growth from 2020, and 80% overall growth since 2018 (4-2 billion hours).
The biggest gainer among social networks was Meta-owned photo-and video-sharing app
Instagram, where users spent an average 13 hours every month — a 329 YoY growth from
9-8 hours in 2020. Indians spent an average 19-8 hours every month on WhatsApp, a marginal
1-5% dip from 2020 but an overall 3-1 % growth since 2018.

5. India continues to be in the second spot in terms of the |largest app downloads market after
China. A Mobile Report 2022’ showed that India clocked over 26-6 billion app downloads in
2021 — around 40% growth from 2018 when annual new installs was 182 billion downloads,
and 10% growth from 2020 when it was 24-3 billion. Gaming and finance contributed to the
spike in app downloads as India witnessed an 85% growth in downloads in 2021 at -3 billion
downloads, in comparison with 2018.

6. Downloads of finance apps grew from 0-5 billion in 2018 to 1-1 billion in 2021. Interestingly,
downloads of health and fithess apps peaked during the pandemic’s onset in Q2 of 2020 at
155-4 million. However, monetisation remains a work-in-progress in the country as India did not
feature even in the top 20 markets globally when it comes to consumer spends.

Which part of the following sentence contains an error ?
A new committee comprising of five members

(@) (b)

was constituted to probe the matter.

(c) (d)

(1)
(2)
(3)
()
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Topic:- ENG_Q129-135_L2_P1_CTET

1) Read the passage given below and answer the questions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline curselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

What helps us to deal effectively with winds of circumstances ?
(1) Strength of character
(2) Our thinking process

(3) Firm resolve

(4) Expert guidance
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2) Read the passage given below and answer the guestions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline ocurselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

The choices we make play a crucial role in our lives because they

(1) help us respond positively to challenges.
(2) determine the quality of our lives.
(3) boost our confidence.

(4) strengthen our resolve.
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3) Read the passage given below and answer the guestions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline ocurselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

The great challenge of life is to

(1) not let our energy fritter away.
(2) keep negative thoughts at bay.
(3) establish our moral compass.

(4) control the process of our thinking.
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4) Read the passage given below and answer the questions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline ocurselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

Read the following sentences:

A. Challenges and disappointments are a part of life.

B. Challenging circumstances are events reserved for the poor.
(1) A is true and B is false.

(2) Ais false and B is true.

(3) Both A and B are true.

(4) Both A and B are false.
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5) Read the passage given below and answer the guestions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline ocurselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

The word similar in meaning to the word ‘major’ as used in para 2 is

(1) large
(2) vital
(3) firm
(4) fateful
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6) Read the passage given below and answer the guestions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline ocurselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

The word opposite in meaning to the word ‘final’ as used in para 3 is
(1) critical

(2) initial

(3) early

(4) timely

[Question ID = 344][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q134]

1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]
3.

4. 4 [Option ID = 1376]

3 [Option ID = 1375]



7) Read the passage given below and answer the guestions by choosing the best/most

appropriate options :

1. In life, the winds of circumstances blow on us all in an unending flow that touches each of
our lives. lt's one thing to create change. It's another thing — often unavoidable — to have
change foisted upon you when you don’t expect it.

2. We all experienced the blowing winds of change. Yet some of us still manage to reach our
intended destinations. What guides us to different shores is determined by the way we have
chosen to set our sails. The way that each of us thinks makes the major difference in where
each of us arrives.

3. Unforeseen circumstances happen to us all. We have disappointments and challenges. We
all have reversals and those moments when, in spite of our best plans and efforts, things just
seem to fall apart. Challenging circumstances are not events reserved for the poor, the
uneducated or the destitute. The rich and the poor have marital problems. .... In the final
analysis, it is not what happens that determines the quality of our lives, it is what we choose to
do when we discover that the wind has changed directions.

4. When things change, we must change. We must struggle to our feet again and reset the sail
to steer us toward the destination of our own deliberate choosing. The set of the sail — how we
think and how we respond — has a far greater capacity to alter our lives than any challenges
we face. How quickly and responsibly we react to adversity is far more important than the
adversity itself. Once we discipline ocurselves to understand this, we will finally and willingly
conclude that the great challenge of life is to control the process of our thinking.

The word ‘Unforeseen’ as used in “Unforeseen circumstances happen to us all”, para 3 is a/an

(1) Noun

(2) Pronoun
(3) Adjective
(4) Adverb

[Question ID = 345][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q135]

1. 1 [Option ID = 1377]
2. 2 [Option ID = 1378]
3.

4. 4 [Option ID = 1380]

3 [Option ID = 1379]

Topic:- ENG_Q136-150_L2_P1_CTET

1) The ability to think about language as a system is called

1) Metalinguistic awareness

(

(2) Discourse analysis
(3) Bilingual awareness
(

4) Content analysis

[Question ID = 346][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q136]

A wN =

1 [Option ID = 1381]
2 [Option ID = 1382]
3 [Option ID = 1383]
4 [Option ID = 1384]



2) Which of the following is the smallest unit of sound ?

(1) Phoneme
(2) Morphology
(3) Syntax

(4) Semantics

[Question ID = 347][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q137]

1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]
3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

3) Reading for an instruction material is an example of

(1) Speaking-Listening communication channel
(2) Writing-Reading communication channel

(3) Visualizing-Observing communication channel
(4) Speaking-Writing communication channel

[Question ID = 348][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q138]

1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]

4) The example of asynchronous learning is

(1) Instant messaging
(2) Video conferencing
(3) Instant chat

(4) Textbook

[Question ID = 349][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q139]

1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

5) When the teacher refers to the rules for engaging in appropriate and effective communication

in their class, then he/she emphasizes on

(1) Pragmatics
(2) Semantics
(3) Phonology
(4) Morphology
[Question ID = 350][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q140]

1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]



6) When around 2 months, babies begin to make vowel-like noises, it is called

(1) Babbling
(2) Cooing
(3) Crying
(4) Talking

[Question ID = 351][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q141]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]

7) A contrast between performance and competence was established by

1) Noam Chomsky

3) Edward Sapir

(
(2) Ferdinand de Saussure
(
(4) Leonard Bloomfield

[Question ID = 352][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q142]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]

8) Expressive language skill development channel is
(1) Listening-Speaking
(2) Reading-Writing
(3) Listening-Reading
(4) Speaking-Writing

[Question ID = 353][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q143]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

9) Scanning a text is useful for developing the language skill of

1) Listening

3) Reading

(2) Speaking
(4) Writing
[Question ID = 354][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q144]
1. 1 [Option ID = 1413]

2. 2 [Option ID = 1414]

3. 3 [Option ID = 1415]

4. 4 [Option ID = 1416]



10) Speaking employs the sequence

1) Content-Expression

(

(2) Expression-Content
(3) Expression-Thought
(

4) Expression-Communication

[Question ID = 355][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q145]
1. 1 [Option ID = 1417]

2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

11) Which one of the following is considered as the decoder 7
(1) Sender
(2) Signal

(3) Channel
(

4) Receiver

1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

[Question ID = 356][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q146]

12) The lefters in a word, the words in a line, and the lines in a page should nof be crowded too
closely together. This indicates

(1) Simplicity in handwriting
(2) Uniformity in handwriting
(3) Spacing in handwriting
(4) Beauty in handwriting

[Question ID = 357][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q147]
1. 1 [Option ID = 1425]

2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]
4. 4 [Option ID = 1428]

13) Which one of the following is not correct about the role of English language in India ?
(1) English has been the associate official language of the country
(2) English is a language of the court
(3) English is a window to the modern world

(

4) English is a source of Indian languages

1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

[Question ID = 358][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q148]



14) Receptive language skill development channel is
(1) Listening-Speaking
(2) Reading-Writing
(3) Listening-Reading
(4) Speaking-Writing

[Question ID = 359][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q149]
1. 1 [Option ID = 1433]

2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

15) The concept of LAD is directly associated with
(1) Skinner
(2) Chomsky
(3) Piaget
(4) Vygotsky

[Question ID = 360][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_119_ENGLISH_Q150]
1. 1 [Option ID = 1437]

2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]






